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= 6,000
z 6,000
ESSNE 485 )23 200,000 0 200,000
= 100,000
= 100,000
402 QI XHZ0|H 200,000 0 200,000
= 100,000
= 100,000
SIEEEES 200,000 0 200,000
OEZSNZ ABSII2ES N
200,000,0002 14 A 200,000
= 100,000
z 100,000
HHEREA 29 13,700 0 13,700
= 6,850
= 6,850
101 2I244| 7,200 0 7,200
= 3,600
z 3,600
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P ANEE
N E

> It
HEH D=
3 Jl=one

0z 1 o

BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
04 JI2ZtMZ2E2XNHsSE> 7,200 0 7,200
Ogdalls lEa 29 22 7,200,000 =12l 7,200
= 3,600
iy 3,600
201 dEt23| 5,000 0 5,000
= 2,500
o 2,500
01 AtR2t2ldl 5,000 0 5,000
OAtR 22|l 5,000
0. CllEEag axz 3,500, 000& *1JH 2 3,500
= 1,750
= 1,750
0. goll= &H =2 500,000& *33] 1,500
= 750
o 750
206 M= 4l 1,500 0 1,500
=2 750
iy 750
01 =4l 1,500 0 1,500
OUZEE 28 Mg & 150,000& * 105 1,500
= 750
- 750
NASorE 340,000 0 340,000
SHASKEH 340,000 0 340,000
SHEASKIE A 340,000 0 340,000
402 QI2tXE01A 340,000 0 340,000
01 U2 EX 340,000 0 340,000
O 2i=0 sEL2SSUHAE 340,000
0. 20l=0F sEASKEH 260,000
o LI dEE sk 7
120,000,000& 120,000
o Masg &l sAHHAL
140,000,000& 140,000
0. I==EHZ20F sZASSU 80,000
o Ut=MAAE L SEHSA ALS
80,000,000 80,000
FO @y @O =2 469,418 498, 100 128,682
SE SAF 2435 469,418 498,100 N28,682
120 Jlsth 29 16,660 5,520 11,140
201 Yere | 4,060 3,120 940
01 AtR22ldl 3,460 2,520 940
O get=g4| 960
0 1200| S S ESAX 80,000& *123] 960
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Mo F0l #E HO T2
Hel: SE SA 2438 (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
O IOI=Hl 400
012001t &= 100, 000& 401 x13] 400
O =gl 2,100
0 12001sti HR=L 7,000& «501+60 2,100
02 ZE=23l 600 600 0
O 3322 % HA 600
012001 st SUHEMEZ 50,000& *12& 600
202 O4H| 12,600 2,400 10,200
01 =Wl 12,600 2,400 10,200
O =Wl 12,600
0 JI=gR=80tl 180,000& x5« 123 10,800
0 12001=st & =& 0l 150,000& «12& 1,800
1203 SAg2s X2 27,400 19,600 7,800
201 eI 3,300 3,300 0
01 AtE22/Hl 3,300 3,300 0
O get+=Ed| 3,300
0 &==At& I 30,000& *102!x112] 3,300
206 M =4l 15,300 16,300 A 1,000
01 M= bl 15,300 16,300 A 1,000
O ME0IANZMH=Z L 100,000 *55*123] 6,000
O 120=2AsMIIE NSl RSN
250,000& «102] 2,500
O 120=3 S At &, 2T M7
150, 000& *123] 1,800
O 120218 A0I018HE L 100,000 «102] 1,000
O JIEtES2EMHE7 100,000& *103] 1,000
O 120=3lsA2Le) , E0IJIRE7Y
100, 000& *103] 1,000
O ANSAESHE 10,000& 105 *150! 1,500
O 120X+3 S A 500A1 2t STH Ml &
500, 000 * 104 500
301 EtEN = 8,800 0 8,800
10 ALAHIZ2 &3 8,800 0 8,800
O 1203 SA BOtE2 03| &4
20,000& »50¢! 1,000
O 12043 SAL =3l SA2SEA
20,0003 *1521x112] 3,300
O 120Kt S AR 2t 3 & A
20,000& 502! %23 2,000
O 120Kt S AL ==X AS 50,0002 *502! 2,500
sENZSEX & 2el 425,358 472,980 ANAT,622
201 Let2d| 119,820 155,540 A35,720
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B ol #E BO £
ool =& ZA 245 (Ere): & 2
_ _ _ Muo
SN - EH . S(3) - MRAY - BES O &t 04 Sl ko HRz2
02 23223l 119,820 155,540 A35,720
O 332= % HMA 119,820
0 Jt2S FI23 9,500,002 * 122 114,000
0 H2SAMLRE BHEYD
190,000& 1200 & 2,280
0 IS AFAAUI(2HE)
36,000 4000 2 1,440
0 H2S QAN (IRSE)
6,000 35001 £ 2,100
401 AIEHIZ 208 305,538 297,440 8,008
01 A&l 303,500 296,000 7,500
O JI28 ®X&el =&dl  20,000& *1,0005 20,000
O AJHXI Jt2S 4 X 2,000,000& x20S 40,000
O ANIIIIIZS OIUTIZ T, o I D H
350,000& »2505 87,500
O sZEt2st s 1,200,000& 755 90,000
O s&EiHzsold 600,000& 505 30,000
O S&)2S =S2ADA 1,200,002 %30S 36,000
03 A&S0HYI 2,038 1,440 598
O JI2S EXSM 2o
283,000,000+0. 72/ 100 2,038
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